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Identify the class interval table for the given histogram and frequency polygon on the same graph.

Freguenpcy e—>

(i)

(if)

(iii)

(iv

(v)

Y
A
—100
—90
—=80
—70
—60
—50
—40
—30
—20
—10
63 69
N N A N N N B
Class-Interval s———
Class-Interval |39 -45|45-51|51-57|57-63(63-69|69-75|75-81
Frequency 75 68 11 51 20 31 32
Class-Interval |39 -45(45-51|51-57|57-63|63-69|69-75|75-81
Frequency 75 11 32 51 20 31 68
Class-Interval |39 -45|45-51|51-57|57-63(63-69|69-75|75-81
Frequency 75 32 14 51 20 31 68
) Class-Interval |39 -45(45-51|51-57|57-63|63-69|69-75|75-81
Frequency 75 32 11 47 20 31 68
Class-Interval |39 - 45|45 -51|51-57|57-63(63-69|69-75|75-81
Frequency 75 32 11 51 20 31 68




Given the number of doctors working in government hospitals in a city in various age groups. Identify the class
" interval table for the given histogram and frequency polygon on the same graph.

No. of doctors
1
Ln

46 53

Age (in years) s——ap

Age (in years) [25-32|32-39|39-46|46-53|53-60|60-67|67-74|74-81

i
(0 No. of doctors 31 17 32 19 41 35 41 17

Age (in years) |25-32|32-39|39-46|46-53|53-60|60-67|67-74|74-81

() "No. of doctors| 31 17 19 34 41 35 41 17

Age (in years) |25-32|32-39|39-46|46-53|53-60|60-67|67-74|74-81

iii
(i) No. of doctors 31 17 34 19 39 35 41 17

Age (in years) [25-32(32-39|39-46|46-53(53-60|60-67|67-74|74-81

iv
(iv) No. of doctors 31 17 34 19 41 35 41 17




Given below is the cost of living index for a particular year in a city. Identify the class interval table for the given

" histogram and frequency polygon on the same graph.

No, of weeks

(i)

(if)

(iii)

(iv)

¥
A
—20
—18
—16
—14
—12
10 10
—10
—8
—6
4
2
x|
175 181 187 193 199 205 211 217 22?
. [ [ [ | |
Cost of living index (in rupees) s——s2
Cost of living index (in rupees) | 181 - 187|187 - 193|193 - 199|199 - 205|205 - 211|211 - 217
No. of weeks 10 8 8 10 7 6
Cost of living index (in rupees) | 181 - 187|187 - 193|193 -199|199 -205|205-211|211 - 217
No. of weeks 10 6 8 10 7 8
Cost of living index (in rupees) | 181 - 187|187 - 193|193 -199|199 - 205|205 - 211|211 - 217
No. of weeks 10 8 8 5 7 6
Cost of living index (in rupees) |181 - 187|187 - 193|193 - 199|199 - 205|205 - 211|211 - 217
No. of weeks 10 8 10 10 7 6




4. ldentify the class interval table for the given histogram and frequency polygon on the same graph.

89

Freguency e—
]
s 8

X
75 245 315 385 455 525 595 665 735

Class-Interval  s——a—3

Class-Interval |25 -31|32-38|39-45|46-52|53-59|60 - 66

i
M Frequency 19 75 32 33 70 89

Class-Interval |25 -31|32-38|39-45|46-52(53-59|60 - 66

i
(i Frequency 19 75 32 37 70 89

Class-Interval |25 -31(32-38|39-45|46-52|53-59|60 - 66
Frequency 19 89 32 33 70 75

(iii)

Class-Interval |25 -31|32-38|39-45|46-52|53-59 60 - 66

iv
g Frequency 19 32 75 33 70 89

Class-Interval |25 -31|32-38(39-45|46-52|53-59|60 - 66
Frequency 19 75 36 33 70 89

(v)




Given the number of doctors working in government hospitals in a city in various age groups. Identify the class
" interval table for the given histogram and frequency polygon on the same graph.

42

No, of doctaors
I
Ln

wn

25 305 3B5 465 545 625 705 78

Age (in years) s——an

Age (in years) [31-38|39-46|47-54|55-62|63-70
No. of doctors 38 27 14 14 42

(i)

Age (in years) |31-38|39-46|47-54|55-62(63-70

(i No. of doctors 38 14 27 14 42

Age (in years) (31 -38|39-46|47 -54|55-62(63-70

(i) No. of doctors 38 27 9 14 42

Age (in years) |31-38|39-46|47-54|55-62(63-70

iv
(iv) No. of doctors 38 42 14 14 27

Age (in years) |31-38|39-46/47-54|55-62(63-70

v
) No. of doctors 38 24 14 14 42




Given below is the cost of living index for a particular year in a city. Identify the class interval table for the given

" histogram and frequency polygon on the same graph.

No, of weeks

(i)

(if)

(iii

(iv)

(v)

10

]

>
101.5 107.5 1135 1195 1255 1315 1375 1435 1495

)

Cost of living index (in rupees) s——s2
Cost of living index (in rupees) | 108 - 113|114 -119|120-125|126-131|132-137|138 - 143
No. of weeks 6 8 10 7 8 7
Cost of living index (in rupees) | 108 -113|114-119|120-125|126-131|132-137(138-143
No. of weeks 6 10 11 7 8 7
Cost of living index (in rupees) | 108 -113|114-119|120-125|126-131|132-137|138-143
No. of weeks 6 10 8 3 8 7
Cost of living index (in rupees) 108 - 113|114 -119|120-125|126-131|132-137|138-143
No. of weeks 6 7 8 7 8 10
Cost of living index (in rupees) | 108 - 113|114 -119|120-125|126-131|132-137|138 - 143
No. of weeks 6 10 8 7 8 7




Heights of 155 students (in cm) are given below.

" Identify the class interval table for the given histogram and frequency polygon on the same graph.

No, of students

(i)

(if)

(iii)

(iv)

Y
-100
|
|
----- 90
|
[
----- 80
|
|
----- 70
|
|
----- 60
|
[
----- 50
|
[
.Trg
_____ i i
|
20
| HEE
----- 10
[ \ _
i
12371130 137 {144 1151 | 158 {165 | 172 |
(EiER i e el an
Height (in cm) s——a—
Height (in cm) [130-137|137 - 144|144 - 151|151 -158|158 - 165
No. of students 29 27 45 9 45
Height (in cm) |130-137|137 - 144|144 - 151|151 - 158|158 - 165
No. of students 29 45 45 9 27
Height (in cm) |130- 137|137 - 144|144 - 151|151 - 158|158 - 165
No. of students 29 47 45 9 27
Height (in cm) |130-137|137 - 144|144 - 151|151 - 158|158 - 165
No. of students 29 45 50 9 27




Heights of 103 students (in cm) are given below.

" Identify the class interval table for the given histogram and frequency polygon on the same graph.

Y

No, of students

116.5]

124.5{1325{140.5|148.5/]156.51164.5

(i)

(ii)

(iii)

(iv)

(v)

Height (in cm)

Height (in cm)

125-132

133 -140

141 - 148

149 - 156

157 - 164

No. of students

15

22

23

14

29

Height (in cm)

125-132

133 - 140

141 - 148

149 - 156

157 - 164

No. of students

15

23

24

14

29

Height (in cm)

125-132

133 - 140

141 - 148

149 - 156

157 - 164

No. of students

15

20

22

14

29

Height (in cm)

125-132

133 - 140

141 - 148

149 - 156

157 - 164

No. of students

15

23

22

14

29

Height (in cm)

125-132

133 - 140

141 - 148

149 - 156

157 - 164

No. of students

15

29

22

14

23




Heights of 249 plants (in cm) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

Mo, of plants
{n
(=]

460 f51 15661 {66 71 0 7601 Bl 8601 91 | 96

Height (in cm) e——ep

Height (incm) |51 -56 |56-61|61-66(66-71|71-76|76-81|81-86|86-91
No. of plants 29 19 41 36 21 41 14 48

(i)

Height (incm) |51 -56|56-61|61-66/66-71|71-76|76-81|81-86|86-91
No. of plants 29 19 36 41 21 41 14 48

(if)

Height (incm) |51 -56|56-61|61-66|66-71|71-76|76-81|81-86|86-91
No. of plants 29 48 36 41 21 41 14 19

(iii)

Height (incm) |51 -56|56-61|61-66|66-71(71-76|76-81|81-86|86-91
No. of plants 29 19 36 41 16 41 14 48

(iv)

Height (in cm)|51-56 |56-61|61-66(66-71|71-76|76-81|81-86|86-91

\
W) No. of plants 29 19 40 41 21 41 14 48




Heights of 185 plants (in cm) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

No. of plants
&
=

5751645 | 715 | 785|855 925 199.5 11065/1135,

Height (in cm) s———»

Height (incm) |65-71(72-78|79-85|86-92|93-99|100 - 106
No. of plants 24 29 49 37 35 11

(i)

Height (incm) [65-71|72-78|79-85|86-92(93-99|100 - 106
No. of plants 24 11 49 42 35 29

(if)

Height (incm)|65-71|72-78|79-85|86-92|93-99(100 - 106
No. of plants 24 11 47 37 35 29

(iii)

Height (incm) |65-71|72-78|79-85|86-92(93-99|100 - 106
No. of plants 24 49 11 37 35 29

(iv)

Height (incm) |65-71|72-78|79-85(86-92(93-99|100 - 106
No. of plants 24 11 49 37 35 29

(v)




Ages of 106 students (in years) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

No, of students
o
=]

8 16| 24 32 401 48 | 56| 64

Age (in years) s—sp

Age (in years) |16-24|24-32|32-40|40-48|48-56

i
(0 No. of students 5 21 16 22 42

Age (in years) |16-24|24-32|32-40|40-48|48-56
No. of students 5 11 21 22 42

(i)

Age (in years) |16 -24|24-32|32-40|40-48(48-56

iii
(i) No. of students 5 16 21 22 42

Age (in years) |16-24|24-32|32-40(40-48|48-56
No. of students 5 16 17 22 42

(iv)

Age (in years) [16-24|24-32(32-40|40-48|48-56

™) 'No. of students| 5 42 21 22 16




Ages of 149 students (in years) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

No, of students
v
[=]

15 125 1235|345 1455|565 | 675 785|895

Age (in years) s——ap

Age (in years) |13-23(24-34|35-45|46-56|57-67|68-78

i
(M No. of students 21 27 33 18 23 27

Age (in years) |13-23|24-34|35-45|46-56|57-67|68-78
No. of students| 21 33 27 18 23 27

(if)

Age (in years) |13-23|24-34|35-45|46-56|57-67|68-78

(D) No. of students| 21 27 33 13 23 27

Age (in years) |13-23|24-34|35-45|46-56|57-67|68-78
No. of students 21 27 36 18 23 27

(iv)




Scores of 213 students are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.

No, of studenis

(i)

(if)

(iii)

(iv)

(v)

Y
100
|
|
----- 90
|
[
----- 80
|
[
----- 70
|
|
----- 60
|
[
----- 50
|
[
40
|
|
----- 30
|
_____ 4 /
| / i
_____ = / \
\ ..
i e
768288 941100 1 106° __.112__ 118 [ 124 11130 11360} 7
35 ) s i st i B i s g 3 i
SCOME St
Score 82-88(88-94/94-100(100-106(106-112(112-118(118-124(124-130
No. of students 6 33 38 31 31 16 13 47
Score 82-88(88-94(94-100/100-106|106-112|112-118|118-124|124-130
No. of students 6 33 36 31 31 16 13 47
Score 82-88|88-94/94-100|100-106|106-112|112-118(118-124(124-130
No. of students 6 33 31 36 31 16 13 47
Score 82-88(88-94(94-100/100-106|106-112|112-118|118-124|124-130
No. of students 6 47 36 31 31 16 13 33
Score 82-88(88-94|94-100(100-106(106-112(112-118(118-124|124-130
No. of students 6 33 36 31 35 16 13 47




Scores of 206 students are given below.

" Identify the class interval table for the given histogram and frequency polygon on the same graph.

¥
100
|
|
----- 50
|
[
----- 80
|
[
----- 70
|
2 =60
@ |
= [
£ =50
5
g a0
..... S
|
[
----- 20
|
|
----- 10
e
69.5 | 5 1104.5[111.5[1185/1255/1325 | |
[ 8 i i e i
SCOrg St
(i Score 77 -83|84-90/91-97|98-104(105-111(112-118|119-125
i
No. of students 50 47 16 10 48 15 20
(i) Score 77 -83(84-90(91-97(98-104|105-111/112-118|119-125
ii
No. of students 50 16 47 10 48 15 20
(i) Score 77 -83|84-90(91-97|/98-104(105-111|112-118|119-125
iii
No. of students 50 16 47 15 48 15 20
(iv) Score 77 -83|/84-90(91-97|98-104|105-111|112-118|119-125
iv
No. of students 50 16 52 10 48 15 20
W) Score 77 -83(84-90/91-97|98-104(105-111(112-118|119-125
Y
No. of students 50 20 47 10 48 15 16




Rainfall of 214 days (in mm) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

No. of days

Rainfall {in mm) s———a—

Rainfall (in mm) |12 -17 |17 -22|22-27|27-32|32-37|37-42|42-47

i
W No. of days 38 25 44 40 18 26 23

Rainfall (in mm) |12 -17 |17 -22(22-27|27-32(32-37|37-42|42-47
No. of days 38 23 44 40 18 26 25

(ii)

Rainfall (in mm) |12 - 17|17 -22|22-27|27-32|32-37|37-42|42-47

iii
(i) No. of days 38 44 23 40 18 26 25

Rainfall (in mm) |12 -17 |17 -22(22-27|27-32|32-37|37-42|42-47
No. of days 38 23 49 40 18 26 25

(iv)

Rainfall (in mm) |12 -17|17-22(22-27|27-32|32-37|37-42|42-47
No. of days 38 23 44 42 18 26 25

(v)




Rainfall of 159 days (in mm) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

No. of days

-0.5 | 85 11751265 | 355445535625

Rainfall (in mm)} s———a—

Rainfall (in mm) | 9-17|18-26|27-35|36-44|45-53

i
W No. of days 41 29 48 5 33

Rainfall (in mm)|9-17|18-26|27-35|36-44|45-53
No. of days 41 32 48 5 33

(if)

Rainfall (in mm) |9-17|18-26|27-35|36-44|45-53

iii
(i No. of days 41 33 48 5 32

Rainfall (in mm) | 9-17|18-26|27-35|36-44|45-53
No. of days 41 48 32 5 33

Rainfall (in mm) |9-17|18-26|27-35|36-44|45-53
No. of days 41 32 51 5 33




Temperatures of 243 days (in °C) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

No. of days

Temperature (in degree) s——a2p

Temperature (in degree) |25 -35(35-45(45-55|55-65|65-75|75-85|85-95|95-105

W No. of days 34 16 22 20 34 48 29 36

Temperature (in degree) |25 -35|35-45(45-55|55-65|65-75|75-85|85-95|95-105

i
(i No. of days 34 16 22 20 38 48 29 36

(i) Temperature (in degree) |25-35(35-45(45-55|55-65|65-75|75-85|85-95|95-105
iii

No. of days 34 16 20 22 38 48 29 36

Temperature (in degree) |25 -35|35-45|45-55|55-65|65-75|75-85|85-95|95-105

(iv)

No. of days 34 16 19 20 38 48 29 36

W) Temperature (in degree) |25 -35(35-45(45-55|55-65|65-75|75-85|85-95|95 - 105
%

No. of days 34 36 22 20 38 48 29 16




Temperatures of 231 days (in °C) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

No. of days

51985

Temperature (in degree) s——p

Temperature (in degree) |27 -35|36-44|45-53|54-62|63-71|72-80(81-89

i
W No. of days 45 42 39 34 13 32 26

Temperature (in degree) |27 -35|36-44(45-53(54-62|63-71|72-80|81-89
No. of days 45 26 42 34 13 32 39

(ii)

Temperature (in degree) |27 - 35|36 -44|45-53|54-62|63-71|72-80|81-89

iii
(i) No. of days 45 39 42 30 13 32 26

Temperature (in degree) |27 -35|36-44|45-53|54-62|63-71|72-8081-89
No. of days 45 39 46 34 13 32 26

(iv)

Temperature (in degree) |27 -35(36-44(45-53|54-62|63-71|72-80|81 -89

%
W) No. of days 45 39 42 34 13 32 26




Weights of 152 students (in kg) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

No, of students
v
[=]

Weight (in kg) s——n

Weight (in kg) [60-69|69-78|78-87|87-96|96-105|105-114

i
W No. of students| 16 32 27 14 20 43

Weight (in kg) [60-69|69-78|78-87|87-96|96-105|105-114
No. of students 16 27 43 14 20 32

(if)

Weight (in kg) ([60-69|(69-78|78-87|87-96|96-105|105-114
No. of students 16 43 30 14 20 32

(iii)

Weight (in kg) |[60-69(69-78|78-87|87-96|96-105/105-114
No. of students| 16 43 27 16 20 32

(iv)

Weight (in kg) [60-69|69-78|78-87|87-96|96-105|105-114
No. of students| 16 43 27 14 20 32




Weights of 258 students (in kg) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

No, of students
v
L]

5[1115]

Weight {in kg) s——n

Weight (in kg) (48 -55|/56-63|64-71|72-79(80-87|88-95/96-103

i
(0 No. of students 44 43 48 16 16 41 50

Weight (in kg) (48 -55|56-63|64-71(72-79|80-87|88-95|96-103
No. of students 44 48 43 13 16 41 50

(ii)

Weight (in kg) |48 -55|56-63|64-71|72-79|80-87/88-95|96-103

iii
(i) No. of students 44 50 43 16 16 41 48

Weight (in kg) (48 -55|56-63(64-71|72-79|80-87|88-95(96-103
No. of students 44 48 43 16 16 41 50

(iv)

Weight (in kg) (48 -55|56-63|64-71|72-79|80-87|88-95|96-103

\Y;
v) No. of students 44 48 41 16 16 41 50




Daily wages of 158 labourers (in X) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.

No. of labourers

(i)

(ii)

(iii)

(iv)

(v)

¥
100
|
|
----- 50
|
[
----- 80
|
|
----- 70
|
|
----- 60
|
[
----- 50
|
[
—40
|
|
----- 30
|
[
----- 20
|
_____ i /
[ .
i
213122001227 1234 1241 1248 | 255 1 262 | 26911 276 |1
[iEi il a i s g et i s i e m pa
Daily wage(in Rs) s—a
Daily wage(in Rs) | 220 - 227|227 - 234|234 - 241|241 - 248|248 - 255|255 - 262|262 - 269
No. of labourers 44 12 39 27 17 12 7
Daily wage(in Rs) | 220 - 227|227 - 234|234 - 241|241 - 248|248 - 255|255 - 262|262 - 269
No. of labourers 44 12 39 24 17 12 7
Daily wage(in Rs) | 220 - 227|227 - 234|234 - 241|241 - 248 (248 - 255|255 - 262|262 - 269
No. of labourers 44 7 39 27 17 12 12
Daily wage(in Rs) | 220 - 227|227 - 234|234 - 241|241 - 248|248 - 255|255 - 262|262 - 269
No. of labourers 44 12 35 27 17 12 7
Daily wage(in Rs) | 220 - 227|227 - 234|234 - 241|241 - 248|248 - 255|255 - 262|262 - 269
No. of labourers 44 39 12 27 17 12 7




Daily wages of 90 labourers (in X) are given below.

" Identify the class interval table for the given histogram and frequency polygon on the same graph.

No. of labourers

(i)

(ii)

(iii)

Y
-100
|
|
----- 90
|
|
----- 80
|
|
----- 70
|
|
----- 60
|
----- 50
|
‘:m
..... 5
|
|
_____ |2 0 . \
_____ i /
. el
58.5]266.5[274.5/282.5|290.5/298.5{306.5/314 5] '/ |
el nilm s i il =]
Daily wage(in Rs)  s—a5
Daily wage(in Rs) | 267 - 274|275 - 282|283 - 290|291 - 298|299 - 306
No. of labourers 10 18 38 18 6
Daily wage(in Rs) | 267 - 274|275 - 282|283 - 290|291 - 298|299 - 306
No. of labourers 10 2 38 18 18
Daily wage(in Rs) | 267 - 274|275 - 282|283 -290(291 - 298|299 - 306
No. of labourers 10 38 6 18 18
Daily wage(in Rs) | 267 - 274|275 - 282|283 - 290|291 - 298|299 - 306
No. of labourers 10 6 38 18 18
Daily wage(in Rs) | 267 - 274|275 - 282|283 - 290|291 - 298|299 - 306
No. of labourers 10 6 40 18 18
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